
 TM    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com 

08/09   TM 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – DRIVESHAFT BOLTS COVER 

1 – LOWER MOUNT BRACKET 
1 – UPPER MOUNT BRACKET 
1 – M6-1.0 X 12mm BUTTONHEAD BOLT 
1 – M6-1.0 X 10mm BUTTONHEAD BOLT 

2 – 3/8” FLAT WASHERS 

Application(s) > 

SUZUKI M90     2009 

Instruction Manual > 

Read all instructions carefully before installing your new Cobra product! 

1. This cover works in conjunction with (or without) the Cobra Drive Shaft Cover (Part #06-0842). If this 
cover is already installed loosen hose clamp and slide the cover forward for clearance. 

2. Remove the stock acorn nuts from the upper and lower drive shaft studs. Save the acorn nuts and 
stock washers for later use. 

3. Install the (2) supplied 3/8 washers and then 
the lower mount bracket over the lower 
exposed stud. Place the stock washer over 
the bracket and install using the stock acorn 
nut, but do not fully tighten. Orient the 
bracket so the flat surface rests against the 
swing arm casting. See Figure 1. 

4. Install supplied upper mount bracket over 
the upper exposed stud. Place the stock 
washer over the bracket and install using 
the stock acorn nut, but do not fully 
tighten. Orient the bracket so the locating 
tab rests against the driveshaft casting. See 
Figure 1 for final bracket positions. 

5. Place bolts cover over the driveshaft and 
slide back over acorn nuts. The lower 
bracket must sit inside of cover while the 
upper bracket should rest on the outer 
backside of the cover, See Figure 2. Make 
sure the brackets align properly with no 
interference. If cover does not fit correctly 
repeat Steps 3 and 4. If the bolts cover 
slides on smoothly continue to Step 6. 

 

 

 06-0843 / 06-0844 Page 1 of 2 

FIGURE 1 

  

(2) SUPPLIED 3/8” 
WASHERS  
(BEHIND BRACKET) 

UPPER MOUNT 
BRACKET 
(LOCATING TAB) 

LOWER MOUNT 
BRACKET CONTACTING 
SWING ARM CAST 

DRIVESHAFT    
(CUT FOR CLARITY) 

STOCK WASHER 
(FRONT OF BRACKET) 

 

STOCK WASHER 
(FRONT OF BRACKET) 



 TM    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com 

08/09   TM 

 
DOCUMENT NO.  0017 REV. B

 
Instruction Manual >  06-0843 / 06-0844 Page 2 of 2 

 
6. Remove the bolts cover and tighten acorn nuts to factory specifications. (For the upper mount bracket 

you will need to hold the bracket in position as you fully tighten the acorn nut to factory torque 
specifications, preventing the bracket from rotating.) 

7. If the Cobra Drive Shaft Cover (Part #06-0842) is installed, slide back into place towards the rear until 
it is bottomed out against the driveshaft casting. Rotate the driveshaft cover to proper position and 
tighten the hose clamp. 

8. Place the bolts cover over the driveshaft as described in Step 5. Install the M6 x 12mm buttonhead 
bolt from the bottom of the bolts cover and into the lower bracket, but leave bolt loose. Install M6 x 
10mm buttonhead bolt into the upper bracket and into the bolts cover, but leave bolt loose. See 
Figure 2.  

9. Push bolts cover firmly toward swing arm housing and tighten the lower then upper buttonhead bolts 
firmly. Make sure bolts cover is properly seated into position. Periodically check tightness of all bolts, 
especially after a long ride. 

DOCUMENT NO.  0018 REV. B 

 

SUPPLIED M6 X 12mm 
BUTTONHEAD BOLT 

SUPPLIED M6 X 10mm 
BUTTONHEAD BOLT 

UPPER MOUNT BRACKET 

LOWER MOUNT BRACKET 

COBRA DRIVESHAFT 
BOLTS COVER 

FIGURE 2 
(DRIVESHAFT AND 

SWINGARM NOT SHOWN) 


